PHY 262  Homework 3 (Ch16)
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1.¢38'5) o
@ The longtudinal wave trawels a shorfer dlistance at
0. higher speed , therefpre it will arrive at B first.

Wb distance fravelled by the transvere

waue , d't
= R¢

distance travelled by the longitudinal o

o, dy - R=S?‘ib‘¢uof
= R (048 is o <guilateral friange) 8=60" = I rad
. the time Uifference = —R2 -

A50kmsY  7.80 kms-!

= 665s4

3. (sB1%) /‘
linear density of 4he shring Mz%? = 6.0025 kg
tension 1n the sking ., F - My (= 300 kg)

wave Speel , V= l.6owm
' 3€.Ix1073s

2

Gom = S0 = Lot ms,

2.(SB®) Yi = 3.0 cos(4.0x ~[.¢1)

%> = 4.0 sin (5.0x - 20t
let Y6 =Y +y,

©> Y (X=1.00, t=1oo) = ~1.65 ,
(40 ‘%Cx:l-oo, t=0.500) = - 6.02 4

© Y(x=0500,t=zp) = l.l‘Sﬁ

4. (3829 "3=(O-,25m)sin(o.3ox—4'0“=)
@ wnfuﬁdz, A=025myg

®  argular ‘F\’Q%mt’.ﬂ, w= 40 rad s 4

©  wak Nutber , R = 0.300 m 4

@ wavelength , A =27/k = 20.9m a
© wave speed, V= w/k = 133 ms™y

& directior of motien ¢ +=x dired‘ron&

5.(3B2T) frequancy; £ = 400 Hz

wowelenath, A = 60.0cm = 0.60m

< Waw speed , U = £9
= 240 ms? ,



